MCR3U Lessons 4.6A/B Trig Identity Homework Sheet

#1. Trig Identities Day 1

a (sinf + cosB)? = 1 + 2sinfcosb
b 25in?0 — 1 = sin?6 — cos?6
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Prove the following identities.

cos?0 = sin%6 + 2cos?0 — 1

tan®0 + 1 = sec?6

sinf + tan6 = tanf(1 + cosh)
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#2. Trig Identities Day 2 Prove the following identities.
cotd 1 —sin%0 . 1 1+ sin@
a = J secO + =
tanf 1 — cos?0 cotf cos@
secd+1 cosf+1
b cos?0 = (1 — sinB)(1 + sinh) k + =
secd —1 cosf —1
_ 2
ﬂ =14+ cosf sinf sinf—1
c tanf — tan?0 tan I — =
cscd  tan@ secO
d sin%0 14 cosd m seczé’_ 1 N 1
1—cos® cos sin?60  sin%0 = cos26
1 ing 1
e + SY _ n sin*x + 2sin®cos?x + cos*x =1
secd cotl cosO
) cosOsinf )
f 1—co0s’0 = ——— 0 — 5 =4tan“x — 1
cotf cos?x
g secBcosO + seclsinf = 1 + tanb o] sinftanb + cos® — secH + 1 = sec’?6cos?6
h cscf + cotf 1+ 2cos + cos?6 a sin’x — 6sinx + 9 _ sinx —3
cscO — cotd sin20 sin’x — 9 "~ sinx + 3
i cos?6 — sin?6 cotd — 1 "y tan@sind tanf — sinf
cos?0 + sinfcosd  cotd tand + sin®  tanfsind




